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% The use of scientific calculators is not permitted in examinations.

1. Find the absolute maximum and absolute minimum values of the function on the
given internal. (10%)

T

f (X) = 2cos®(X) +sin?(2x) [O’E]

2. Evaluate IirT01+(4X+1)°°tX . (10%)
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3. For the function f(X)=W , find (a) the asymptotes, (b) the intervals of

increase or decrease, (c) the local maximum and minimum values, (d) the intervals
of concavity, (e) the inflection points, and (f) draw the function on the x-y plane.
(30%)
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4. Evaluate - [ cos" tdt . (5%)

5. Find the indefinite integral. (5% x 9 = 45%)
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